—_RCl OFFROAD_ X\

Disclaimer:

The products sold by RCI Metalworks are intended for off-road use only, should not be modified, and are for
use only on the vehicle(s) specifically stated. RCI Metalworks makes no warranties express or implied,
including of fitness for a particular purpose or merchantability. RCI Metalworks will not be liable for any
damages arising out of the use or misuse of its products. It is the customers' responsibility to ensure the
products are safely and properly attached to the vehicle, and all products should be installed by trained
professionals. We strive to maintain extremely high-quality standards; however, all RCI Metalworks products
are individually handcrafted, may vary slightly, and may contain minor imperfections. Due to the nature of raw
aluminum, the material may have minor scratches and other blemishes caused by the manufacturing process,
especially on the back side of the product. RCI Metalworks is constantly seeking to improve its products and
reserves the right to make changes to any product.

Installation of an RCI bumper requires removal of factory-installed components such as crash bars and foam
impact absorbers. These components are designed for vehicle safety and impact absorption, and their removal
may negatively impact occupant protection in a crash. RCI is not responsible for the removal of these
components, and the owner/installer assumes all risks associated with their removal and any resulting
consequences. It is the owner/installer's sole responsibility to understand the implications of removing these
components before proceeding with installation. The installation of this RCI bumper, improper installation of
this RCI bumper, and use or misuse of this RCI bumper with other components or failure to use it in
conjunction with other components, could result in or cause serious personal injury, property damage or death.

RCI bumpers are not crash-tested and are intended for off-road use only. Vehicle owners are responsible for
testing and recalibrating any affected sensors after bumper installation. While RCI may conduct preliminary
sensor functionality checks during product development, this does not constitute testing to Original Equipment
Manufacturer (OEM) specifications. RCI is not responsible and does not accept liability, for breakage or failure
of parts as a result of rugged off-road use or reckless and/or improper installation. Modifications to your vehicle
are done at your own risk and RCI does not accept liability or responsibility arising from damage caused by
installing parts or doing modifications.

RCI performs off-road testing on its bumpers, including winch pulls, static and dynamic recovery pulls, and
general off-road use. However, RClI is not liable for any damages arising from the use or misuse of its products.
Customers are responsible for ensuring products are safely and properly attached to their vehicle, and
professional installation is strongly recommended. After installing any off-road product, customers should test
and recalibrate all safety sensors to ensure proper functionality. Do not rely on any safety sensor functionality
until this verification is complete.

RCI Offroad bumpers with receiver hitches are not load rated. Using a receiver hitch for towing or other
heavy-duty tasks is not recommended unless explicitly stated by the manufacturer. The bumper and receiver
hitch are intended for off-road recovery use and not designed for sustained towing or load-bearing applications.
Any misuse, such as towing or overloading, may result in bumper failure, vehicle damage, or personal injury.
RCI is not responsible for any damages or injuries resulting from the use of the bumper with a receiver hitch
beyond its intended purpose.

If an RCI product is purchased by a third party, such as a dealer, wholesaler, or installer, it is the third party’s
responsibility to inform the end customer of this disclaimer.



=_RCl OFFROAD_ X\

RCI 10-24 4runner Arapaho Bumper Installation Guide

mEm |  PaRT y
LD MUMBER DESCRIPTIOMN a1y,
1 [sm-ooarz | 10+ TR Arapaho |
10+ T4R Avapaha
2 [Sm-00a78 Mounting Brackes! 2
TNET4X 1.5
3 |HwW-00188 | CARRIAGEBOLT | 4
GR-5
714 SPLIT LOCEK
4 [HW-00045 WASHER ZINC 4
5 [Hw-gooar |THIELLER BEERUT 4
M12-1.25 X 25MM
ol e o HEX FLANGE 2
172 LSS FLAT
7 |Hw-00022 WASHER THRU "
HARD
MI10-1.25 X J0MAM
8 [HwW-00077 HEX FLANGE 8
S8 LSS FLAT
9 |WW-0002& WASHER THRU 8
HARD

el " el ¢ dall [ DT o =i o
i a2 ik :

L P 10/ 10/2024

Expoal Dol

[ e

Figure 1:BOM

A m MHarbee
Dheliqualk

RCI OFFROAD

10-24 d€unnar Araphao
Froni Burmparn Indiall
G
BOBA
il

SCALE: 150 wEnGHI



=_RCl OFFROAD_ X\

Prepping Truck for Installation:

**Use hand tools, impact wrenches may cause damage if over torqued.

1. Begin by unpacking and removing all components and hardware. Please verify that all
hardware, components, and mounting components are present. Please reference your original
order invoice and verify all items are accounted for.

2. PLEASE NOTE: Vehicles with ACC will need to relocate their sensor before moving
forward with this install process.

3. Open the hood of the vehicle and disconnect the negative terminal on the battery before
proceeding.

4. Remove and set aside the factory plastic support cover by removing the 13 plastic clips
holding it in place.

Remove
and save all
clips.




—_RCl OFFROAD_ X\

5. Remove the three (3) M10 bolts as depicted below and disconnect the ACC sensor.

Remove
three M10
bolts.

Disconnect
ACC sensor.

\




—_RCl OFFROAD_ X\

6. Remove the 6 trim clips securing the bumper to the front crossmember.

Remove clips
securing the grill
to the
crossmember.




—_RCl OFFROAD_ X\

7. Remove all trim screws inside the vehicle's front wheel well and under the bumper. Save all
OEM hardware until the installation is complete.
There will be 5 screws to remove on the passenger side and 6 on the driver side.

Remaove all
trim
sCrews!

i i

8. Remove the OEM air dam or any filler plates that are connected to the lower side of the
bumper.



—_RCl OFFROAD_ X\

9. Disconnect the fog lights by unplugging the large connector located behind the driver side fog
light.

Disconnect
fog lights.

10. After the clips and screws are removed from the bumper, the ACC is unplugged and fog lights
are disconnected, the bumper can be removed.



=_RCl OFFROAD_ X\

11. The bumper should now only be held on by clips. To disconnect the clips, start from the wheel
well and gently pull outward on the wing of the bumper until it separates from the vehicle.
Repeat this process around the front of the vehicle until all clips are released.

12. Set the OEM plastic bumper aside once removed from the vehicle.



—_RCl OFFROAD_ X\

13. Next take off the OEM crash bar by removing the eight (8) 14mm bolts holding it in place.

Remove the four
(4) 14mm bolts
per side.




—_RCl OFFROAD_ X\

14.The radiator plastic air deflectors need to be trimmed for proper fitment of the RCI Bumper.
a. Copy the outline of where to cut as shown below.
b. Use a utility knife, angle grinder, Dremel or something similar to remove the lower
section of the air deflectors.
c. Be careful not to cut any wiring or hoses during this step.

15. When installing a winch, the factory power steering line needs to be adjusted to avoid contact.

16. Loosen the 10mm bolt securing the power steering line on each side of the vehicle. Once
loose, rotate the up as much as possible before retightening. If a bigger winch is being
installed RCI recommends using a zip tie to secure the power steering line to the vertical
radiator support. Reference the figure below.

Loosen 10mm
bolt on each side
of the vehicle.

Zip tie if extra
room is needed.




=_RCl OFFROAD_ X\

17.1f a large winch is going to be installed, the lower grill support will need to be trimmed. Trim
where depicted below.

18. Collect the OEM plastic bumper that was fully removed in Step 10.
a. Pull off the wiring harness that is adhered to the back side of the bumper.

Pull off wiring
harness and
tuck away.

Remaove clips
holding valence
in place,




_RCl OFF ROAD _ X~

Bumper Cut Line for 10-13 4Runner:

1. Collect the removed plastic bumper, some painters tape, a tape measure, and a marker

2. Tape over the bumper from corner to corner making a straight horizontal line.

3. The goal is to cut the bumper so that it is in line with the fender of the vehicle.



_RCl OFF ROAD _ X~

4. Measure 5.1/4” up from the fog light housing and mark in multiple places.




=_RCl OFFROAD_ X\

5. Measure 5 1/4” up from the lower grill and mark in multiple places.

6. Use a flexible straight edge or a straight piece of cardboard to help connect the cut line
H o
* ¥

JR L

| 4d



_RCl OFF ROAD _ X~

7. Use a Dremel or angle grinder to cut the bumper.
a. Make sure that there is nothing behind the bumper before cutting.

8. Cut slightly inside the desired line to leave a small margin.
a. After cutting, sand the bumper down to the desired cut line for a cleaner edge.
b. If desired, install black edge trim over the cut edge of the bumper.

9. After the bumper is cut and cleaned up, remove the two bumper clip mounts on the fenders.




_RCl OFF ROAD _ X~

10. Cut off the bottom portion of the clip mount so that it's in line with the fender.




—_RCl OFFROAD_ X\

11. Reinstall the clip mount on the vehicle.




=_RCl OFFROAD_ X\

Bumper Cut Line for 14-24 4Runner:

1. Collect the removed plastic bumper, some painters tape, a tape measure, and a marker.

2. From the bottom of the headlight measure down 3 %" and make a mark.




_RCl OFF ROAD _ X~

3. From the upper section of the headlight measure down 5” and make a mark.




=_RCl OFFROAD_ X\

4. From the innermost upper section of the headlight measure down 5 1/2” and make a mark.




_RCl OFF ROAD _ X~

5. From the inner section of the grille measure down 5” and make a mark.




—_RCl OFFROAD_ X\

6. After all marks have been made, use a long piece of tape to connect all of the marks. Be sure
to start on the fender of the vehicle to help keep the cut line level.




—_RCl OFFROAD_ X\

7. Wrap the tape around to connect to the grille. Make sure that the cut line sits 1 2" below the
top surface as depicted below.




—_RCl OFFROAD_ X\

8. From the center of the grille, measure down 1 78" and make a mark. Use another piece of tape
to trace a cut line across the grille.




—_RCl OFFROAD_ X\

13.Use a Dremel or angle grinder to cut the bumper.
a. Make sure that there is nothing behind the bumper before cutting.

14.Cut slightly inside the marked line to leave a small margin.
a. After cutting, sand the bumper down to the cut line for a cleaner edge.
b. If desired, install black edge trim over the cut edge of the bumper.




_RCl OFF ROAD _ X~

15. After the bumper is cut and cleaned up, remove the two bumper clip mounts on the fenders.




_RCl OFF ROAD _ X~

16. Cut off the bottom portion of the clip mount so that it's in line with the fender.




_RCl OFF ROAD _ X~

17.Reinstall the clip mount on the vehicle.




—_RCl OFFROAD_ X\

18. Reinstall the OEM bumper.

\1




—_RCl OFFROAD_ X\

RCI Bumper Installation:

1. At this time, install any accessories (Light Bar, Winch, Fairlead, etc.) into the bumper
before continuing with the installation process.

2. Collect two (2) M10 bolts and thread one of these per side from the back of the frame to help
hang the RCI Bumper.

3. With the help of a friend, lift the bumper into place and rest it on the reversed bolt.

4. Collect two (2) more M10 bolts with 38" washers per side and begin hand threading them into the
appropriate mounting holes.

5. With both sides loosely mounted, remove and reinstall the reverse mounted M10 bolts.



—_RCl OFFROAD_ X\

6. Collect the final two (2) M10 bolts with washers and install them on the inner most mounting
holes through the access hole on the bumper.

7. Align the bumper so that there is roughly 1/4” gap between the bumper and the fender of the
vehicle. Snug the bumper down to keep it aligned correctly.

8. Collect the provided mounting bracket along with one (1) M12 bolt, three (3) 1/2” washers, two
(2) 7/16” carriage bolts, two (2) 7/16” split washers, and two (2) 7/16” hex nuts.

9. Partially thread the mounting bracket into the vehicle frame with the M12 bolt and 1/2” washer as
depicted below.



—_RCl OFFROAD_ X\

10.Rotate the bracket so that it aligns with the slots on the bumper. Mount the bracket using the
7/16” hardware.



—_RCl OFFROAD_ X\

I

11. Tighten all hardware on the bumper once it is aligned properly.



=_RCl OFFROAD_ X\

Trimming Fender Liner:

1. After the bumper is fully installed, the excess fender liner will need to be trimmed.

2. Reference images below for examples of trimmed fender liners.




_RCl OFF ROAD _ X~

3. Leave enough liner so that it can be zip tied out of the way if needed.

4. Complete the installation by ensuring all mounting hardware is fully tightened. Use zip ties to
secure any loose wiring and connections.



—_RCl OFFROAD_ X\

Enjoy your new RCI protection!

Share your new install with us on social media!

We love seeing our products out in the wild!

www.rcimetalworks.com
sales@rcioffroad.com
970-797-3089

REV: 1] 9/29/2022

(Msclaimer: The products sold by RCI Metalworks are intended for off —road wse only, should not be modified, and are for use only on the vehicle(s) specifically
stated. RCI Metalworks makes no warranties express or implied, including of fitness for a particular purpose or merchantability. RCI Metalworks will not be liable
for any damages arising out of the use or misuse of its products. It is the customers' responsibility to ensure the products are safely and properly attached to the
vehicle, and all products should be installed by trained professionals. We strive to maintain extremely high-gquality standards; however, all RCI Metalworks
prodiects are individually handcrafted, may vary slightly, and may contaln minor imperfections. Due to the nature of raw aluminum, the material may have minor

scratches and other blemishes caused by the manufacturing process, especially on the back side of product. RCI Metalworks is constantly seeking to improve its
products and reserves the right to make changes to any product.


mailto:sales@rcioffroad.com

